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Teopemuy4yeckue ceedeHUs

O — UeHTp OKPYKHOCTHU
r- paauyc OKpy>XHOCTH
d- AMamMeTp OKpPYXXHOCTHU
C — ANHa OKPYXHOCTU

\S- nnowaanb Kpyra




Pewume 3adaydy

noackKaska

d=0,01
$=0,000075




PeweHue

0,35 * 6 = 2,1 (KM) npoLuen KOT 3a 6 YacoB
2,1:70=0,03 (kM) gnuHa 1 Kpyra

U3 gbopMynbI OruHa OKpy)XxHocmu
Haudem paduyc

r=0,03:6 = 0, 005 (KMm)

d=2* 0,005=0,01 (Km)
$=3%*0,000025=0,000075 (KB.KM)
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KBagparta 6onbLue
e AnamMeTpa OKPYXXHOCTH,
onncbiBaeMoOU BepeBKOU
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Pewume 3a0ay

- ¥ a -
‘J* '*ql

3338,6 M
Uuinm
3,3 KM




